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SeXRALE P LPRUV EGLAI R WAL A ame

Lo P @ e fen R oy alfus 1.  Which of the following is the most subjective
sufaafie fafig 7 method of educational paychology ?
(1) e (2) @fdata (1) Observation (2) Extrospection
(3) pEitica (4) aradaty (3) Experimentation (4) Introspection
2. Ul qUg = a B gsfaa b 7 2. Albert Bandura is associated with which of
. ' the following ?
1) asmTeTs _
U ST 1 v (1) Cognitive Development Theory
(2) wraETE) Rrar (2) Behavioural Theory
(3) wedfire ferama (3) Psychosexual Development
(4) wmfas sfom g (4) Social Learning Theory
3. Iftpm o vaw fim 7 § forg @ w7 3. Plateau in learning curve is caused due to
(1) 9= g (1) Fatigue
(2) afsmom g (2) Motivation
(3) ®fwEm (3) Interest
(4) GidEE g (4) Maturation
4. v faa e R AT ¥ e e e 4. Mirror Drawing Test is used to measure

(1) GTcHRaT =l
(2) AT =T =
(3) iR =

(4) ferm i nf <At

(1) Creativity

(2) Transfer of learning
(3) Interest

(4) Rate of learning

5. Fn3s T an = 4 § fhees 7199 1 wged 5. Cloud Picture Test is used to measure

BdTe ? which of the following ?
(1) sAfwewa (2) =Afaaa (1) Aptitude (2) Personality
(3) wfwsf= @) =iz (3) Interest (4) Intelligence

6. UTE Y % Hied 1 WG AT 1S 94 7, Iqh 6. Five years old Mohan has mental age of
g afey foraft 2 7 cight. What is his 1.Q. ?
(1) 140 (2) 160 (1) 140 (2) 160
(3) 135 4) 150 (3) 135 (4) 150

7. TG FA-H AL F, T A, aTerehl H 7. Which 1.Q. range is called trainable 1.Q.
yfse Ay 15,7, T Fgerdr g 7 level of mentally retarded children ?
(1) 36-49 (1) 36-49
(2) 50 - 69 (2) 50 -69
(3) 35vdE = (3) 35 and below
4 70-79 (4) 70-79
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B. NN g w2 2w g ferest 11 2 ks s W
from stregr 2 7
(1) #f (2) #fy
(3)  sifvana (4) =afae
9. e fawgfa 1w T 3
(1) wEfas g=
(2) T e ) gy
(3) e o gl fafept
(4) e i gafy
10. =@ foratt i1 vienensh wza 1 v A, fnferm
HL, WA O, G F i s w6
fafer @ ararfoa 2, = e 2
(1) wfufq
(2) ifirg
(3) TS
(4) wiferf
11. Fadsmimafima
(1) ¥ =7 glieqor
(2) 16 -t us.
(3) 21U ghem
(4) Z.u A,
12. 7,8,9, 10, 11, 12 %1 A2 &
(1) 10 2 9
(3) 9.5 4 8
13. Y3 TN A=1ce@ & flgr= o Sfaurs fedl ,
(1) =
(2) TETEEEE) AT
(3) ferm
(4) gier
14, Al 3 sEn Ao gel Yaf @ wee g §
(1) @ (2) @&
(3) form (4) wae
15, qd oy 3 STUR TGS H 51 TaH FE
FEATHI & -
(1) s 2 T
(3) e (4) gaEm
Paper - 2/B

8,

10,

11,

12,

13.

14.

15,

Rorschach ink blot test is used to measure
which of the following ?
(1) Interest (2)
(3) Aptitude (4)

Intellipence

Personality

It is not the cause of forgetting

(1) Mental conflict

(2) Desire to rermember

3) Defective methods of remembering

(4) Under learning

The science which deals with the method
of collecting, classifying, presenting,
comparing and interpreting numerical data -
is called

(1) Geometry

(2) Mathematics

(3) Probability

(4) Statistics

Find the odd one out,
(I) Raven’s test

(2) 16-P.F.

(3) Draw a man test

(4) T.A.T.

The median of 7, 8,9, 10, 11, 12 is
(1) 10 (2) 9

(3) 9.5 {4) 8

Who has propounded the theory of
insight ?

(1) Hegarty

(2) Gestalt Psychologist

(3) Skinner

(4) Thorndike

According to McDougall évery instinct ig
associated with

(1) Sensation (2)
(3) Thinking

Emotion
(4) Cognition

Giving meaning to sensation on the basis
of past experience is called

(1) Motivation (2)
(3) Imagination (4)

Perception
Sensation

[P.T.0,
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18,

19.

20.

21.

22.

e Mo e A ._:.'.'-' ~

T s % ferg Nfarer w1fey <) saamon e
qAR?

(1) =rd= are

(2) TR

(3) fafersd

(4) TIEA

Fe=t 1 & - weh 3w wlenr ) Rerrared d
=2 e
(1) =rEgfsa

(3) arfvramman

(2) Aer

(4) Tervagaan
= 8 4 - afs g i 2 7
(1) w1 g

(2) T3 aca =1 fagr=

(3) wigded 1 g

(4) U v o fagra

fr=fafea o @ 5 sraarf o adi & 7

(1) =smaf

(2) gy of

(3) wratge uf

(4) g af

foars = srgan gxrTens foshma i fid arewer 2
(1) qd dfsrarenss arawen

(2) sitg=nfes Gitran srawan

(3) ¥ wfswan sraeen

(4) FETCH THS STl
EGRCINETR G 1 HEN LIRS I LS G B
(1) =i sfori & qen SIS 9 s ad
(2) aw 9 aun fafeerat |

(3) A FHerhnl A

(4) Faa AT §

urlia dieum 3 6 - 14 3 & ==t & fore Frages
3 s1fard fren w1 sl Fast 1 woftre R

(1) 3T=ag 451

(2) og=ee 154

(3) =L 21AH

(4) =< 261
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16.

17,

18.

19.

20.

21.

22,

Who has given the Concept of Educational
Quotient for backward children ?

(1) Burton Hall

(2) Schonell

(3) Cyril Burt

(4) Gorden

Which among the following is different from
characteristics of a good test ?

(1) Objectivity (2) Validity
(3) Aptitude (4) Reliability

Which of the following is not theory of
intelligence ?

(1) Theory of regression

(2) Two factor theory

(3) Multifactor theory

(4) Unifactor theory

Which one of the following is not ductless
glands ?

(1) Salivary glands

(2) Pituitary glands

(3) Thyroid glands

(4) Adrenal glands

According to Piaget the second stage of
cognitive development is

(1) Pre-operational stage

(2) Formal operations stage

(3) Concrete operations stage

(4) Sensory-motor stage

The main characteristic of basic instinct is
that which is found

(1) All organism and it is inborn and natural
(2) Only in Cats and Rats

(3) Only in Artists

(4) Only in human beings

The right to free and compulsory education
for children between age group of 6 - 14 has
been included in Indian Constitution as
(1) Article 45

(2) Article 15

(3) Article 21A

(4) Article 26




24.

25.

26.

27.

28,

29,

30.

mﬁwﬁﬁfzﬁﬁmﬁﬁ%wsg@wrﬁﬁwﬁ@ﬁ
frma ?
(1) e (2) HererH
(3) w A ) (4) R
A3A. & Ry P 3 Prwem w2 7
(1) gl (2) e
(3) e (4) difg e
aoF i1 fargr fe1 3 A Rt s @ 2 2
(1) firsron 2) Hfa
(3) YT (4) atferm
ﬁmﬁﬂéwﬁﬂmﬁmaﬁnwﬁamﬁwm
e ?
(1) O 99T TR
(2) e
(3) wmH AT
(4) SwTgEA
g @Ife =t 7o 8wl g effaa g @ wm 2 ?
ELSICERIC
(1) et x100
o) TR
HH 8 Tg
HITHh 3R]
) ITEATR I x 100
HH R 3 :
(4) ﬁ 3TIE:«IOO N |
ﬁ?mrwﬁma?raafﬁr—rﬁﬁﬁﬁﬁ%?
(1) gead @
(3) $H (4) <t
STTHATEN 7 3 Tl 3§ s Wi e e 7
(1) @R
(2)
(3) Feq
(4) e

vt Teft AT Y eRor SR g TR0 R A
(1) grome
@) fmg

(2 wwd
(%) Remme
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25.

26.

27.

28.

29.

30.

e i) '_I_‘h_mk__mg_

Kretschmer has classified the persons in
one of the following main types

(1) Picnic (2) Athletic

(3) All of these (4) Asthenic

Purpose of T.E.T. is measure which of the
following ?

(1) Attitude (2)
(3) Values (4)

Aptitude
Intelligence

Consolidation theory explain which of the
following ?

(1) Motivation (2)
(3) Creativity (4)

Memory
Learning

What is the factor influencing physical
development in the following ?

(1) Sports and exercise

(2) Environment

(3) All of these

(4) Heredity

Which of the following is correct formula
to calculate 1.Q. ?

C.A.

(1) x100
A.

C.A.
M.A.

M.A.
C.A. x100
C.A.

Who described ‘Reflective Thmkmg from
the following ? s
(1) Woodworth
(3) Drever

(2)

(3)

-x 100

(2) Ross
(4) Dewey

Which is not included in the levels of =
inductive reasoning ?

(1) Generalization

(2) Experiment

(3) Imagination

(4) Observation
Fanlure in retentlon and recall of learnt- .
content 1877 D
4 (2') Mer_npry :
(4) Forgetting

(1) Retentlon

_[PT.0.
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9T - 1I /| PART - 11
umar - I : @< / Language - I : HINDI

S H ST g 2 ?

(1) =wdura (2) fa
(3) =gsife @) ==
FATTETE R ST &

(1) &gaa =as[ =t

(2) g ud faai =t

(3) STequTT =

(4) wETHTOT =

T 3N Il |flE e 3 g |
formret =211 e @ v e Em |
37 uferr 1 vgad ™ @

(1) EEs ™ (2) W\
(3) =HEI " 4) 3@

F' fofa = 3§ v e 6 o g B & 2

(1) wEH (2) =4

(3) =W (4) @t

I e A TR - s A i e
Frifera & | fora foman 1 SerETor @ 2

(1) fe=dss T (2) Swomds faman
(3) eehfersh b (4) W e

T T o S 2

(1) TTsia (2) wEE

(3) < (4)

TR i e S EAER S ?

(1) 9 @A (2) TRl gsa

(3) 3 fiEgaa (4) oM Hiet

W) TS T G o TR H A B

(1) STeg$=< T« (2) STeTHET g

(3) wwR gl fie (4) wEdARE Sl
T gerdiard 1 e I & R ue w
g3 7

(1) THHRE (2) 3=t

(3) ufmRfifereme  (4) <ymvamy bR
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41.

42.

43.

44,

45.

46.

47.

‘YeaHTe o WATHH B
(1) Fegzm

B) g=™
FH-W AR TS @
(1) il = =irer HET AEAF © |

(2) TR el 3 &l i st fean |
(3) g&il WwHEe TH W@ R |

(4) EdiH - =9TE 3 A |

fanefi d wR-H v ?

(2) A TH
(4) =191 E™

(1) Torafa (2) FrEaF

(3) TwaFY (4) <=ty

‘S 1 vaiEarE e 2

(1) = (2) fafew

(3) FHASRAH - (4) gm

‘g fame” = a1 R

(1) SR Gl =l TAT-H Hh IFTH Tr=g
A |

(2) 9T AT |
(3) ®fFY IR wwTE wam |
(4) ws2l = e |

forg =t 7 forg =,

& forg = = faft s
7 Ufel H wgea sTeenn
(1) srEfa SR

frerferiea & arem e 6 Ry w2

(1) = fafa (2) ety Ry
(B) WA WE A (4) wafygrm Ry
ﬁmﬁff‘@aﬁafﬁqmaqém%

(1) Odgds g

(2) WE 1 AT 6
(3) vt 3R wifee § sy
(4) WERyT e 9 et 9 sifieaag wan




b

et g )V e [l et

g

48,

49,

50.

S1.

52,

53.

54.

56.

e s & eftrerer & e & “wied wemE
foretar o1 e fe R d 7
(1) Tl g ar

(2) gfm F9R Tl

(3) itz =i

(4) S arsmen Brds

‘ot sadl | g

St afe a9 wam 8§ S v

o 3= q@ IigaT gied IR T T8

- Treh qfF B 7

(1) s =it (2) wrems
(3) =T (4) TESET
AR IR ERIRERS .
(1) &IE AGER

(2) sferera fafiramms

(3) &R ATSH

(4) 35d ATAUE

TR TEITITATER ?

(1) e ) F=

(3) (4) g
‘gitdta’ #1 faeim 8

(1) owma 2) FrEEs
(3) wemH (4) FEH=
‘o’ Y1 1 G

(1) Y (2) #E

(3) = (4)
‘it ererfe el T 2 arer (@)’ - I
o e ez e |

(1) snfifees (2) enfyifoes
(3) TerEe (4) e
S A =i gt g s ard 8

(1) I =afad & geea |

(2) = s R 7E1 fRd S wd |
(3) Terelt oY areg Fomelt g =1 &1 |
(4) S SifEw ¥ greT |
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frerfeifaa saa ®) s T §TE €69 56 § 60 T
w1 we fweg g sw i |

¥ Qe R & T A FE it an Ry ) =, IQW
) srfRma 3 77 A Frefere F vet @ ) v & wesw w0
3 e TR AT 36 - WY TR 1 7 gt i v A
TR G R | T A i A s Ee ATy w R |
3 Tf% Iqe T T g3, A TG AT Y A7 AFE A
o7 qTe e R, T IwwT 79 g § v T R, @ @i
R fiftea € Bl ol e =fe 9o & amg @ S mm |
L qE aga VS & 6 e R w W s B g
¥, R 9N, v W Ie SR | 59 sER A e
R-R A ged I A FS A wE S TR,
i R w4 381 FFT 39 T8 3791 F9d W WH &8
T ] waia e | PR ef@l d e s 19 8@
HER A S0 el § oK FHR & I 99 SR fovan e
R | S e S W9 S W 6 o9, 3 R A
Tiewa B § 39K T |1 S YO A ¢ |

56. Y e SO § Sy Srer e gl SE-w & 7
(1) e A it |
(2) & W FH T A
(3) STHRI Al AT |
(4) =R ¥4, @ W FiRE 7 &9 aw <=9
TG A |

57. TR & gS-8¢ QI A Go9 A HHI @
(1) TYHR S
(2) TEER H
(3) 319 FweT Wl
(4) IwW SfEH
58, ‘feear yee § sueni ok vRrg 1w faeeew @
(1) i+ se@ + an
2) Fr+sg+a
3) i+ 5@ + o
(4) FR+s@+ @

59. ‘T & waarT® §{ R

(1) ey (2) FEE
(3) ehTaLET (4) THTAT
60, ‘3T W e A’ % R smwm wmy ?
(1) T (2) wehu
(3) few (4) wneff
[ P.T.O, |




W - 111 / PART - III
WINT - II : 3! / Language - 11 : ENGLISH

61. Choose the correct sentence.

(1) The committee was divided on this
point.

(2} The committee was one on this point.
(3) The committee have one on this

point.

(%) The committee were one on this point.

62. Which of the following is an example of
Simile ?
(1) Anxiety is sitting on her face
(2) Life is a dream
(3) A lie has no legs
(4) [ wandered Ionely as a cloud
63. Change the following sentence into Active
Voice.
“The visitors were shown the new-born by
the woman.”
(1} The woman showed the visitors the
new-born.
(2) The woman has shown the new-born
to the visitors.
(3) The woman might have shown the
new-born.
(4) The new-born was shown to the wisitors
by the woman.
64. Select the antonym for the word.
‘Adverse’
(1) Inimiecal
(2) Friendly
(3) Unwilling
(4) Hostile

65. Fill in the blank with correct word to
complete the proverb.

“Blood is than water.”
(1) Purer
(2) Thicker

{3) Precious
(4) Thinner

Paper-2/B

66.

67,

68,

69.

70.

Give one word substitution for :
The scientific study of insects. :
(1) Mycology (2) Entor'nology
(3) Meteorology (4) Criminology

Point out the correct direct speech of the
following.

I asked why he was looking through th‘;,,,

keyhole.

(1) ‘Why are you looking through the
keyhole ?' I said.

(2) ‘Do not look through the keyhole’ I

said.

(3) You are looking through the keyhole ?”
I said.

(4) ‘Are you looking through the keyhole ?’
I said.

Put the verbs in brackets into the correct
present tense.

My daughter never (write) to me so I never

(know) what she (do).

(1) My daughter never writes to me so I
never know what she is doing.

(2) My daughter never write to me so I
never knew what she does.

(3) My daughter never writes to me so I
never knew what she does.

(4} My daughter never wrote to me so |
never knew what she do.

Pick out the correct synonym of the word,
‘Cantankerous’

(1) Noisy
(2) Quarrelsome
(3) Disrespectful
(4) Rash

Pick out the sentence that has a
demonstrative adjective in it.

(1) Each of them received ten rupees.

(2) This kind of question is often asked in
examinations.

(3) His written statement differs from his
oral one.

(4) Itis a twenty-kilometers walk.
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Read the given passage and answer the questions
that follow (Q. Ne. 71 to 75) by selecting the
most appropriate option,

Helicopters are very different from airplanes.
They can do three things that airplanes cannot
do. First, when airplanes move upward, they
must also move forward, but helicopters can
move straight up without moving ahead. Second,
helicopters can fly backward, which airplanes
cannot do. Third, helicopters can use their rotors
to hover in the air, which is impossible for planes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks. Since
helicopters can take off without moving forward,
they do not need a runway for take off. They are
used in congested areas where there is no room
for airplanes or in isolated areas, which do not
have airports. Because they can hover, they are
used on fire fighting missions to drop water on
fires. They are used in logging operations to lift
trees out of forests. Helicopters are used as air
ambulances to airlift patients out of situations,
which are difficult to reach, by conventional
ambulances. The police use helicopters to follow
suspects on the ground or to search for cars on
the ground. Of course, helicopters have military
uses because of their design and capabilities.

71. The word ‘congested’ in the passage
means

(1) The place can be accessed by police vans

(2) The place has no place

(3) The place has so. much of smoke due
to fire

(4) The place is roomy

72. A helicopter can hover while an acroplane
cannot, according to the passage. ‘Hover’
in the passage means
(1) Go backward in the air
(2) Move straight up in the air
(3) Fly sideways
(4) Stay at one place in the air

73. Point out the grammatical category of the
word ‘perform’ in the passage.
(1) Adverb
(2) Verb
(3) Helping verb
(4) Noun

Paper - 2/B

74.

75.

76.

7.

78'

79.

80.

Why is a helicopter used as an ambulance ?

(1) Itreaches the inaccessible places
easily

(2) It crosses all difficulties of traffic

(3) Itcan fire fight

(4) Its movement can be manoeuvred
easily

Point out the grammatical category of the
underlined word ‘very’ in the above passage.
(1) Noun (2)
(3) Verb (4)

Adjective
Adverb

Bees are kept in
(1) An apiary (2) A nursery

(3) An aquarium (4) A pantry

The idiom ‘green-eyed monster’ means
(1) To be angry

(2) To be sick

(3) To be blind

(4) To be jealous

Select the sentence in which the article has
been wrongly used.

(1) A pupil should obey his teacher.

(2) Twelve inches make a foot.

(3) He is a European.

(4) He is a M.A.

Pick the correct question tag from the
options.

People shouldn’t drink and drive,

(1) ismitet 7

(2) should not they ?

(3) shall they ?

(4) should they ?

Point out the part that has an error in the
sentence.

You are learning English/for the last one

A B
year/but you show/no improvement at all,
c D
(1) C (2 B
(3) D (4) A

[ P.T.O.




81, ‘Tochew the cud’ correctly means
(1) To meditate
(2) To die on duty
(3) To inculcate virtues
(4) Contrive against somecone

g2, Complete the following sentence with most
appropriate choice.

‘He was very much ashamed his
mischief.’

(1) with

(2) of

(3) over

(4) for

83. Complete the following sentence with
appropriate choice.
! he stood first, he would have
gone to America.’

(1) Have (2) Had
(3) Anyways (4) If
84. Fill in the blank.
‘Of the sword and pen the is
more powerful.’
(1) latter
(2) later
(3) last
(4) last one

85, Which prefix can be used with the following

words ?

behave, guide, use
(1) mis

(2) dis

(3) re

(4) in

Read the following passage and answer the
questions from 86 to 90 based on it.

Work expands so as to fill the time available
for its completion. The general recognition of this
fact is shown in the proverbial phrase, ‘It is the
busiest man who has time to spare.’ Thus, an
elderly lady at leisure can spend the entire day
writing a postcard to her niece. An hour will be
spent in finding the postcard, another hunting
for spectacles, half an hour to search for the

Paper — 2/B
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arter in composition
iding whether or not
g to the pillar box
| effort that would occupy
minutes, all told, may in
other persorn completely
f doubt, anxiety and

ur and a qu

address, an ho
n dec

and twenty minutes i
to take an umbrella W
in the street. The tota
a busy man for three
this fashion leave an
exhausted after a day 0
toil.
86, What is the tota
lady in writing a p
(1) Four hours an
(2) A full day
(3) Half an hour
(4) Three minutes

| time spent by the elderly

ostcard ?
d five minutes

87. What happens when the time to be spent
on some work increases ?
(1) The work consumes all the time
(2) The work is done leisurely
(3) The work needs additional time
(4) The work is done smoothly

88. What does the expression ‘pillar box’ stand
for ?
(1) Box office
(2) A box in the pillar :
(3) A pillar-type post box
(4) A box attached to the pillar

89. Who is the person likely to take more time
to do work ?
(1) A man of leisure
(2) An elderly person
(3) An exhausted person
(4) A busy man

90. Point out the most appropriate e :
of the sentence. y s

‘Work expands so as to fill the time available

for its completion.’

(1) Ifyouhave more time, you can do more ::__‘

work,

(2) Whatever time is available iver
e for ven
amount of work, all of it will be f;edr.1
(3) If you have some important work to.

do, you should alw
additional time, e e som

(4) The more work there {s t
o :
more the time needed. D gane th_'?




61. ‘FHar=a’ A fen frmes srgEm A R 7
(1) TEFIFER  (2) HH F AR
(3) ¥ egar  (4) Wi % agER
62. T I HH GO ? }
(1) 37 (&) (2) 47 (¥arfew)
(3) 34 (Vi) (4) 74 (SEw)
63. HWIq WSS ;| H T N g0 B
(1) ST (2) e v
(3) TWiwEre: (4) ¥ WEE
64. ‘THEA: IETE B
(1) HaRa
(2) =g Tegey
(3) e Tege
(4) fechan deges <6
65. ‘T urg oIz TR 3TN TR UhasA 1§92
(1) < (2) =W
(3) TR (4) w=
66. ST fawm i grfd’ @ aT=d ufiady e
(1) T fedoram
(2) v fEOAdE ,
(3) T famm: daw
(4) T forsma i g
67. ‘e fored wraafs’ v =1 ar=y ufEds dm
(1) Ton ferem: A
(2) weon fired qread
(3) Teon fire: yraafd
(4) T fare; oI
68, ‘amyifia grged anredufarea’ O § vy
STElR ©
(1) &9 (2) 39H1
(3) v (4) TS
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69. HIETH FI Wgg HwH A 2 - T A A
HEFT I T
(1) =TT Higs =g |
(2) TerRE HiEE UEd |
(3) @TeIehId Higeh U= |
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The source of oxygen liberated as bypmd-'
during photosynthesis is )

(1) Glucose

(2) Water

(3) Chlorophyll

(4) Carbon dioxide

The component of blood that prevents its
clotting in intact blood vessels is
(1) Thrombin

(2) Heparin

(3) Haemoglobin

(4) Antibody

Islets of Langerhans are present in
(1) Pancreas

(2) Liver

(3) Heart

(4) Stomach

Enzymes are chemically
(1) Carbohydrate

(2) Acid

(3) Protein

(4) Lipid

Which of the following acid is also a vitamin ?
(1) Malic acid

(2) Ascorbic acid

(3) Palmitic acid

(4) Formic acid

Which of the following is not a constituent
of petroleum ?

(1) Paraffin wax (2) Coke

(3) Lubricating oil (4) Petrol

A metal ‘M’ does not liberate hydrogen from
acids, but reacts with oxygen to give a black
colour product. Identify ‘M.
(1) Cu (2) Mg
(3) Ca (4) Na
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Frafafaa 4 @ frgd womvpe 6 den sifema
gnfi 7

(1) CH,%16¢g (2) CO, ¥ 16¢g

(3) O,%16¢ (4) N,%16g

Uil ot efirfeef &) wemamen § i & fra
g fanfea s @ ?

(1) mf‘mém

(2) KMnO,/OH/H,0

(3) efem faemm

(4) Br,/H,0

fed ma @ifieni 4 & forg difire 1 atidiem Y
et §E +2 8 ?

(1) NaO, (2) Na,0

(3) NaO, (4) OF,

10 et e & @iy i § 20 gefigd q91 20
e 2 | a0 = auTeed @
(1) 75%&H (2)
(3) 100 #HHl (4)

50 A,
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(1), s (2) ®am
(3) Z=aH™ (4) Hl

15l e (1101), % qe Fomerd G B ©

(1) 13 (2) 11

(3) 15 (4) 9

191 e w R g

(1) Gimmeat (2) fodiwea
(3) wlie (4) udEreR
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Which of the following has maximum
number of atoms ?
(1) 16 gof CH,

(3) 16gofO,

(2) 16gofCo,
(4) 16 gof N,

- -

In laboratory, ethylene and acetylene can
be distinguished by
(1) Tollen’s reagent

]
(2) KMnO,/OH/H,0
(3) Fehling solution
(4) Br,/H,0

In which of the given compound oxidation
number of oxygen isz_ + 4P

(1) NaO, (2) Na,0
(3) NaO, (4) OF,
Sound waves cons-is‘t of 20 compressions

and 20 rare in 10 meter length. The
wavelength of wave is :

(1) 75cm (2) S0 cm
(3) 100 cm (4) 25 cm
If % and % be respectively the absolute

refractive index of water and glass, then the
refractive index of glass relative to water is

(1) (2)
(3)

plow|p
O oo |0

(4)

In Household wiring, what is the colour of
“Earth wire” ?

(1) Black (2) Green

(3) White (4) Red

Kirchhoff’s current law based on conservation of
(1) Charge (2) Momentum

(3) Mass (4) Energy

The decimal number equivalent of binary
number (1101), is

(1) 13 (2) 11
(3) 15 (4) 9

What is silk farming ?
(1) Sericulture (2)
(3) Agriculture (4)

Pisciculture
Epiculture

[ P.T.O.
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All organlams belonglng to Kh‘i

Protlata are
(1) Multicellular and prokaryotig
(2) Unieellular and prokaryot]
(3) Multicellular and eulary
(4) Unicellular and cukaryotlc

Which of the following plgmcnt Is
with the germination of nccda_?
(1) Chlorophyll

(2) Plastocyanin

(3) Xanthophyll

(4) Phytochrome

The tissue that connects one bone With :h .-
other bone is called %
(1) Epithelium

(2) Cartilage

(3) Ligaments

(4) Adipose tissue

Viviparous germination of seeds occur in
(1) Potato

(2) Rhizophora

(3) Sugarcane

(4) Mango -

SI unit of heat is

(1) Calorie (2) Erg
(3) Watt (4) Joule

If P, F and A represent pressure, force and
area respectively, then

pul F
(1) P= A (2) PHK
@ p=l 4 ol

A

If the momentum of body increases from

10 unit to 25 unit In 8§ sec, then working
force acting on |t |

(1) 3 unit
(2) 2 unit
(3) 4 unit
(4) 1 unit
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Mica is used in cooling 1 fmu Wj% g s

(1) Good conductor of St neat and '
clectricity

(23 Badc conductnr of heat Byt ,grf;vyj
conductor of electricity

(3] Bad conductor of bt neat znd
electricity

(4) Good conductor of hest but bad
conductor of electricity

Angle of dip 2t magnstic pole of earth is

(1) 290° 2} 45"

3) 135° W o :

The monomer of natural mbmm

(1) Terylene Ry : ,’

(2) fsoprene Y e mies

(4) Neoprene R B e

mmpanﬁhasf&@'mbﬁ:gm°
(1) Negspentane 5 REETR
(2j lsopentzne e T
(3) Isobutane

(4} f-pentzne
Thcnumberaf»—e%mmmdmhd
aromsatic compound is

(I} 4n+2

2) 4n+1

2n~4

4n

{utherford’s alpha [of pariities scanening
experiment resulted into discovery of

{1} Electron

(2) Nucleus in the atom

(3) Atomic mass

(4) Proton

Which one of the following is not 2
hmrogenau mixture ?

(1) Smaoke

(2] Milk

(3} Jelly

(4) Air
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e urfifer aqreiter 3 fEa ST g oht e
1 a3 ; 2 o1 | 20 e F 3 A ST
Serz | fSdt o e ferere! oft 7

(1) 16 (2) 40

(3) 24 (4) 36

?ﬁ:;m@amﬁa:z%@mﬁ a, b, ¢ # fo afg

a_b_c_2a-3b+5CH @KFUED
$ 3 4 K

(1) 20 (2) 15

(3) 25 (4) 10

R AR BEE A=A R, FFA-B=AT,
TWANBR

(1) B (2) A

3) AuUB (4) ¢

e Tt x2 — bx + ¢ = 0 % q &l HHNA
‘{\Uﬁ‘q“'ﬁ@ﬁiﬁ,?ﬁb?—ﬁ}c%

(1) O (2) -1

(3) 2 ) 4

31 Gl 1 0.9, IR 9.9, I 13 37K 1989
3, afe o w117 9, o |l 5 @

(1) 223 (2)- 221

(3) 225 (4) 222

TE a0 § Sl Y & 40 ® | A% wm
10 &l T 7TET 4.5 AT I8 B A 3.5 B, AW

HIeT0T T T ?
(1) 3.75 (2) 3.80
(3) 4.25 (4) 2.82

14 Tl T Sic! Uk oiF O 9 SIfehas 7k

T T, G ST et ST @ | 56 S il gegut

=3
(1) 2464 FHt (2) 1134 @1
(3) 616 @H® (4) 924 TH©

50 FEAE 41 TS € | B & 1 53 § ¥ "
a1 § 3w wemnaAt w o 3.5 2 14 M
e H U B
(1) 46.5
(3) 56.5

2) 53.5
4) 49.5

G 5, 9, 14, 15, x + 1, 2x — 13, 26,
30, 32, 34 I STRIE A # qafeara frar smar s |
77 Hlal & AIHF 24 © | x B 9H 2

(1) 21 2) 19

(3) 16 (4) 20
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In a religious gathering the ratigof
of ladies to that of gents was 32 When o0
more gents joined, the ratio Was reverseq.
The number of ladies was ki e i
(1) 16 (2} 40 4
(3) 24 (4) 36

For three non-zero real numbers a, b, ¢ if

a_b_c_2a-3b+5C thevatieofKis |
2 3 4 K :
(1) 20 (2) 15
@) 25 4) 10

If A and B be any two sets such thatA-B =4,
then AnBis
(1) B

3) AuB

(2) A
(4) o

If the roots of the equation x*~bx +c=0are
two consecutive integers, then b? —4c is

(1) O (2) -1

(3) 2 @ 1

The HCF and LCM of two numbers is 13
and 1989 respectively. If one of the number
is 117, then the other number is

(1) 223 (2) 221

(3) 225 (4) 222

The number of observations in a survey is
40. If the mean of first 10 observations is
4.5 and that of remaining is 3.5, then the

mean of whole survey is
(1) 3.75 (2)
(3) 4.25 (4)

A right circular cylinder of maximum
volume is cut from a solid cube of edge 14 cm.
The total surface of cylinder is

(1) 2464 cm?® (2) 1134 cm?
(3) 616 cm?® (4) 924 cm?®

3.80
2.82

Tiumber

There are 50 numbers. Each number is
subtracted from 53 and the mean of the

numbers so obtained is —3.5. The mean of
the given numbers is
(1) 46.5
(3) 56.5

Ten observations 5,9, 14, 15, x+ 1, 2x— 13
26, 30, 32, 34 are written in an ascending
order, The median of the data is 24. Find
the value of x.

(1) 21
(3) 16

(2) S3.5
(4) 49.5

19
20

(2)
(4)
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(3) 4000 (4) 4420
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134.
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137,

44 cows can graze a field in 9 Ida}s How
many less/more cows will graze thc same -
field in 12 days ?

(1) 11 cows less
(3) 15 cows less

- (2)
(4)..

[fa,a+2at4are Prime numbers then e
the number of values of ‘a’ are. i
(1) Three (2) Two " _

(3) More than three (4) One - '

1-% cqws mo_rc -
15 cows more . '

Find the biggest 4 dtgxt number whxch is a :
perfect square.

{ } 1899 =
415 9999 ¢

(1) 9000
(3) 9801

When x*? + 1 is dmded byx 1 then What ;
is the remainder ?

(1) 2 @ 1

(3) -1 (4) O

If A and B are non-empty subsets of a set C,
then A U (A N B) is equal to

(1) A (2) AUB
(3) B 4 AnB

The population of a village increases by
5% yearly. If at present the population
of the village is 4410, then what was the
population before 2 years ?

(1) 4200 (2) 4430

(3) 4000 (4) 4420

Which of the following statement is true ?
(1) Congruence of triangles can be learnt
without learning algebra.

Equations can be learnt without
learning arithmetic.

Statistics can be learnt without
learning algebra.

Different branches of mathematics viz.
Algebra, Geometry etc. are dependent
on each other.

(2)
(3)

(4)

Which among the following is the best

pedagogical way to teach mathematics ?

(1) Find the gaps and address only them

(2) Find the weakness and teach only
those parts

(3) Teach every student with the same
approach

(4) Motivate the learners to develop their

existing capabilities

[ P.T.O.
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(1) 20%
(3) 15%

139. 2 SrHfas densil & a 8 § | aft 3 gl
mﬁn% 2, d A1 il @) g HIR |

(1) 2,6
(3) 3,5

140. Tl 9RER 571 mites = frey for 3 argem R |
afe fean aon amn w s @ o % 4,000 2, @
TR ) $ 3 e anft ?

(1) % 60,000
(2) T 40,000
(3) % 30,000
(4) % 50,000

141, Sife T A% 1 36 GeA @ 10% FH W E@lea
% 3R 38 T 10% A T I=ar 2 | Ig

avR
(1) 222%
9

(3) T Q H1E A

142. A wfEm A2 - px + 54 =0F @ 2: 3%
Foa H E, A p HAF R

(1) 21
(3) 15

143. 3 o it vigsit A Semgdl @ o 25 : 64
AYT 37k THI BT ATAE 4 : 52 | 396 A

T 3ITA 2
(1) 5:8
B) 1:2
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138.
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141,

142,

143,

If A’s salary is 25% more than tha
then how much percent is B’ s Sa
than that of A ?
(1) 20%
(3) 15%

2) 18%
(4) 25%

18 ==,

v (2) 4,4
1) 2,6 ;

expenditure between education and trave_'
is T 4,000; what will be the total income o

the family ?

1
Education Hnuzsgry?cn
25%
Travel
Savings
20%

15%
(1) % 60,000
(2) % 40,000
(3) % 30,000
(4) T 50,000

Jatin buys an article for 10% less than its
value and sells it for 10% more than its
value, his gain is

2 7
1) 22=% —9
(1) 3 (2) 229 Yo
(3) None of these (4) 20%

If the roots of the equation x? - px+54=0
are in the ratio 2 ; 3, then the value of p is
(1) -21 @] 21
(3) 15 (4) 18

Ratio of the heights of two right circular
cones is 25 : 64 and ratio of their diameters
is 4 : 5. The ratio of their volumes is

(1) §:8 @) 1:4

8) 1:2 4) 1:3
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(2) 25000 T
(4) 20000 T

8 6
ST @ 13
2 2
(3) . @ 38
fira § ABCD T b T & | 09 S0 I
(%, y) @
A B
N
Av*goh 5|/
R 1¥ fD
(1) (15° 35%) (2) (10°% 15°)
(3) (40°, 35°) (4) (15°, 25°)
x ¥ firg w3 frg et orfersg a1 agerh 27 8 1
25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25
(1) 25 (2) 24
(3) 26 4) 27

A x=2,y= 1,z=—3!ﬁ,ﬁx“+y5‘+z3-3xyz

AT R
(1) 8

2
(3) O 4) 6
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145.

146,
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149,
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IfA={x!xis a letter in word BELOW},
B = {x:x s aletter in word WOOL} and
g r A - B, then the number of subsets of
8 : :
(1) 3
(3) 4

@ 2’
(4) 1

The perimeter of a rhombus whose

diagonals are 10 cm and 24 cm is
(1) 68 cm (2) 34 cm
(3) 52 cm (4) 120cm

A company makes an advertisement to
collect a capital of Rs. 25 lacs of shares. If
the printed price of one share is Rs, 100,
then find the number of shares circulated
by the company | i vinn: . s
(1) 30000 shares (2) 25000 shares

(8) 15000 shares (4) 20000 shares

From a pack of 52 playing cards one card
is drawn at random. What is the probability
that the card is a spade or an ace ?

8 6
(1) e @ 13
) bot

In figure ABCD is a cyclic quadrilateral,
then the ordered pair (x, y) is

AJ . )_B
” D 4x
Ay * 20° o S
2R 1+ 7 b
(1) (15°, 35°) @) (10%, 15%
(3) (40°, 35°) (4) (15°, 259
For what value of x the mode of the following
data is 27 ?
25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25
(1) 25 (2) 24
(3) 26 (4) 27
Ifx=2,y=1,2z=-3, thenx’+y’+ 2’ - 3xyz
equals :
(1) 8 (2) 2
3) O (4) 6

[P.T.0
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$/OTHER SUBJECTS '

Who is the founder of Din-i-llah; »
(1) Akbar

(2) Humayun

(3) Shershah Suri

(4) Muhammad Gajanavi

In whose reign did Hsuan-tsang come to
India ?

(1) Harshavardhan ; .

(2) Chandragupta Vikramaditya

(3) Skandgupta

(4) Samudragupta

Who among the following emperors was
called ‘Qalandar’ ?

(1) Akbar (2) Humayun

(3) Shahjahan (4) Babur

The Governor General, who partitioned

Bengal was .
(1) Minto (2) Canning
(3) Mayo (4) Curzon

Kunwar Singh was the Zamindar of which
State ?
(1) Avadh

(2)
(3) Bitthore

(4)

Jagdishpur
Barrack-pore
Inversion of temperature means

(1) Constant temperature with height
(2) Increase of temperature with height
(3) Fluctuating temperature with height
(4) Decrease of temperature with height

Which one of the following reservoirs is
associated with Rihand Project ?

(1) Jawahar Sagar

(2) Govind Ballabh Pant Sagar
(3) Govind Sagar

(4) Gandhi Sagar

Shipki La is the famous mountain pass of
(1) Sikkim

(2) Uttarakhand
(3) Himachal Pradesh
(4) Jammu ang Kashmir
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Social studies teacher should have the =
knowledge of subject matter &s well .

(1) Teaching technology = -
(2) Teaching methods
(3) None of these |

(4) Educational objéctlves, i

The most useful teaching material for the
Geography is : . .
(1) Flash Card

(2) Map

(3) Barometer

(4) Calendar

‘Ashtadhyayee’ was \r{fitten by
(1) Shukadeva (2) Panini
(3) Valmiki (4) Vedavyas

The Second Buddhist Council was held

' during the reign of
(1) Shishunaga

(2) Mahapadmananda

(38) Kalashoka

(4) Udayabhadra

Akbar constructed ‘badat-Khana’ in

(1) Delhi (2) Fatehpur Sikri
(3) Sikandara (4) Agra

The Arya Samaj was founded in the year
(1) FI87SA.D: (2) 1870 A.D.
(3) 1880 A.D. (4) 1865 A.D.

Who among the following was notassociated
with the Kakori case ?

(1) Ashfaqullah Khan

(2) Rajendra Lahiri

(3) Surya Sen

(4) Ramprasad Bismil

Which Part of the Indian Constitution deals
with Fundamental Rights ?

(1) PartIII

(2) Part Il

(3) PartIV

(4) Partl
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Which one of the following As .
of the Constitution of zfé?fd“;ﬁg"mc?;:
lsus of strengthening of the Panchayati

a i i
(1) 73<Amendment ;
(2) 44" Amendment
(3) 86" Amendment
(4) 42" Amendment

The office of International Court of Justic
is situated in '
(1) The Hague (2) London

(38) Paris (4) New York

Population control and family planning};
is listed in which Schedule in the Indian
Constitution ? ;
(1) Concurrent list

(2) Union list

(8) Residual subjects

(4) State list

Which one of the following Directive |
Principles related to Foreign Policy ? ;
(1) Article 50 |
(2) Article 49 ‘
(3) Article 51 |
(4) Article 48 l

|

|

Bhilai steel plant is located in
(1) Madhya Pradesh

(2) Jharkhand

(3) Odisha

(4) Chhattisgarh

Which one of the following rocks is an
example of sedimentary rock ?
(1) Shale

(2) Marble
(8) Granite
(4) Slate

The tail of a comet always points
(1) towards North-East
(2) away from the sun
(3) towards South-East
(4) towards the sun
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Which one of the following g nssocinted
with fault ? P e e i
(1) Hogback

(2) Strike valley
(3) Graben

() Anticlinorium

Which one of the
desert ?

(1) Gobi

(2) Arabia

(3) Kalahari

(4) Atacama

following is nota tropical

Which one of the._"'fo]lbWing is--fhe most
suitable teaching aid to show proportionate
size and shape of continents ?

(1) Globe

(2) Physical map of the world
(3) None of these

(4) Political map of the world

The suitable method of geography
teaching is

(1) Story method

(2) Discussion method

(3) None of these

(4) Tour method

A universal language of the map can be
understood by way of

(1) Alphabets
(2) Conventional symbols

(3) Thematic maps

(4) Sketch

U-shaped valley is formed by

(1) Winds (2) River
(3) Sea waves (4) Glacier

The capital of Australia is
(1) Melbourne

(2) Canberra

(3) None of these

(4) Sydney

[ P.T.O.
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Who is the writer of Rajpgot p.a: ;
(1) W.G. Archer o palnung:?
(2) Rai Krishna Das T he 4
(3) None of these
(4) Ananda K. Coomaraswamy‘_ '

Folk Art is associated with
(1) Modern Art

(2) Painting

(3) Pre-Historical Art

(4) Regional Art

Geometrical design is called
(1) Design made in square
(2) Design made by geometrical forms
(3) None of these ]
(4) Geometrical forms

Aipan is associated with which State ?

(1) Maharashtra (2) Madhya Pradesh;
(3) Uttarakhand (4) Uttar Pradesh

How many total numbers of Shrutees are
there in Hindustani Sangeet ?

(1) 12 (2) 13
(3) 09 4) 22

When “Sports Day” is celebrated ?

(1) 30 August (2) 29 August

(3) 31 August (4) 25 August

Who is the author of the most prominent
book on yoga “Yog Darshan” ?

(1) Maharshi Patanjali

(2) Maharshi Narad

(3) Maharshi Devdatt

(4) Maharshi Bharat

“Zein’ protein is related to which crop ?
(1) Maize (2) Soybean
(3) Oat (4) Paddy

Which breed of cow is dual purpose ?

(1) Sindhi (2) Jersey

(3) Tharparkar (4) Gir

India has divided in how many Agro
Clirnatic Zones ?

(1) 15 2) 12

(3) 22 4 ©




131.
132.
133.

134.

135.

136.

137.

138.

139.

140.

141.

e T TR s R

(1) g afder 3 (2) A

(3) ey Y & (4) whwwd
A1 i A et foeh wrfera @ § 7
(1) <fm (24) (2) wshg (26)
(3) igrH (28) () =a (22)
Aa.af. 5 et o 1 e e 7
(1) Prdigern = (2) fewshien
(3) wwh @i @) TR
‘ST A feaw’ oy A mrn ST ® ¢
(1) 25+ (2) 207

(3) 28 4) 21<@
faEiiieF sas HII@TRAE ?
(1) Wl e (2) Helt o

(3) A a& 4) e

RS 7 :

(1) Hid (2) 23
(3) ™RE (4) RE

ST AT 1 S e e % any fR S R ?
(1) g% (2) T

(3) & (4) "AR

=91 A P qEen desh i e ¢

(1) TH 5 Il

(2) iR gEA

(3) ¥eHg < foha

- (4) 9. T AR
gan“rrgﬁa@a”ﬁa@ﬁagﬁ?

(1) @RreTehTdl (2) gr=E

(3) EEE] (4) 7% faoetl

“mw@ﬂmﬁqﬁ,aﬁwfmm?ﬁ

mm%i”%%ﬂﬁamﬁg@m]%?
(1) =&

(2) Tl faasr=

(3)

(4) THTFWH
W@%ﬁmmﬁwaﬁa:{;ﬁﬁmn Tyt 7
(1) 1957 H (2) wssrj

(3) 1960 (4) 19527

Paper - 2/B

29

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141,

Saffron is obtained from
(1) Flower stigma (2) Leaf

(3) Calyx 4) Bud .

How many ribs are there in human body ?
(1) 24 i 5 7Ry 26 e
() 28 C iy d

Which disease is prevented by.."'l".'A.B,
vaccine ? : :

(1) Typhoid
(3) Pertussis

(2) - Diphtheria

(4} Tuberculosis

On which day in ‘International Yoga Day’
celebrated ? ek :

(1) 25" June (2) 20" June

(3) 28" June (4) 21% June

In which clothes are resin‘starch used ?

(1) Silken clothes (2) Cotton clothes
(3) Nylon clothes (4) Woolen clothes

How many Shuddh and Vikrit swaraas in
total are there in Hindustani Sangeet ?
(1) o7 (2) 08

(3) 11 4 12

With which Gayaki Char Taal is used ?
(1) Dhrupad (2) Taraana
(3) Khyal (4) Dhamar

Amongst these who is nota ‘Tabla Player’ ?
(1) Ram Das Sharma

(2) Zakir Husain

(3) Ahmed Jan Thirakwa

(4) Pt. Kishan Maharaj

Where was first “National Games” Organised ?

(1) Kolkata (2) Mumbai
(3) Chennai (4) New Delhi

“roday India does not need Geeta but needs
a football ground.” This thought was given
by which Thinker ?

(1) Pluto

(2) Swami Vivekanand

(3) Rousseau

(4) Radhakrishnan

Community Development Programme was
started in the year
(1) 1957
(3) 1960

1955
1952

(2)
()

[ P.T.O.
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e Court of India enunciate
E}: gﬁgtr:irge of Basic structure of.
Constitution in India 5
(1) Golakh Nath case
(2) Sajjan Singh case
(3) Keshwanand Bharti case
(4) Shankari Prasad case

Underwhich Article of the Indian Constitution,

the Governor has the power to reserve a bill

for the President’s assent ?

(1) Article 200 (2) Article 108
(3) Article 213 (4) Article 52

The Vice President of India is elected by the -

members of an electoral college consisting of

(1) Elected members of both Houses of

Parliament
(2) All members of both Houses of
Parliament

(3) Elected members of the Council of

States
(4) All members of the Council of States

Which country is not the member of SAARC ?
(1) Bangladesh (2) Nepal
(3) Japan (4) Bhutan

Progeny of nucleus seed is

(1) Certified seed (2) Foundation seed
(3) Registered seed (4) Breeder seed

Centrr:_ll Institute of Medicinal and Aromatic
Plant is situated at
(1) Bhopal (2)

(3) Lucknow New Delhi

(4) Hyderabad

The most suitable fruit for marmalade

making is
1) Malta (2) Jamu
53] Bael (4) Banarrlla

Cen.tral Food Technolo

Instlic{ute is situated at
arnataka 2) M

3) None of these ((4% N;{}egglshhitra

Which preservative is used in J

gical Research

elly making ?
(1) Sulphite (2) Pectin
(3) Sulphur dioxide (4) Sugar
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